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y=[62.1 77.3 92.5 104 112.9% 121.9 125 129...

g +3g 2/2/ g 3
T— » 11:3 9 2/2/2019 —-%
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Numerical Variables dgaaal) & uaiall V¥,

Ssall aeYly Ggall DA e byl @l iy
Command Window
New to MATLAB? See red 3_\5‘),4 J‘ dadds J\ dainia J.”‘.."‘“ S a8 ujg; u\ S arg

>> a

JSallg al dad Ay yurie Cioyedl aadtud A6 auall :Jbe
P e peall dilee 2485 a0 Dl prial a8 Ji) Gau Jlaal)

el 538l

a=1; b=2; c=a+b;

il G Bydle Auleall Cililenl) Bl Cipes (Sep 1ilada
) UK b LS doandl il

bl MaeYh e A2l (e G lia
L) S8l LS Y ale b dapes Sas
YURPRURLARY SRR 3
Symbolic Variables
dja) poy A8 yzall il OO e cdanaal) i paatiall Chujat Ayl ety ) patiall Gl Coyal
G bl ey (ulall Sdle u Shsana dae

ail e ol Caupn ay Alall oda g duag) J5Y) el
el (Sl b LS Cag jall (e Adghiac 4l

D="Al Salam "

W="123"

11



Symbolic matrices 4jal) cild siuaall ¥ ¥,
RIS, Rupay dghomn Ciaped (Sas

Command Window

Mew to MATLAB? See resources for Getting Started, Z\.LALQJ MW u.uL\ﬁ\ G:LA)-C d;\d C'_ub'j

>» 3LY = ["Mercury","Gemini","LApollo"; .Ala_.j J‘AL\.A\EI J\L ‘i- “ z\jmmb hbﬂ .Ja_.iﬂ

"Skylak","Skylak B","IS55"]

cer = coh S ddgaaall 5arene

2x3 string array str = ['Mercury"<"Gemini""Apollo";

"Mercury"” "Gemini™ "Apollo™

"Skylab” "Skylab B" nIggm "Skylab'"Skylab B""'ISS"]

»>» 8tx(2,2)

e[ R ye Gl Lo siia b ghaal) and (S
«str [2,2] JAA—\’J\ ub.\; PGS

ans =

"Skylab B"

Numerical matrices 4l cid ghaall ¢, ¥,

Gl el (& el Glighadl oyl

Cun Qladl JSEN 8 sl sadl Ll Y

Dol s L s Chall yualic (o Jomis
ik giie ALalis 452 Cigioall

Koy 30 Agload) lleall (e el llia
SREAUECT tland) (e b
— il S8 cligpadl e Lhuls

New to MATLAB? See resources f b=a| E\AM\ d‘}a_'\,g [ ]
_ galic st Adad) M asE Cua
il UK LS dd gadl)
c=a*b u_..f.'ﬁ}nm.a K pa daa\; °
Q) JS) 6 LS Bl 3 Lginyas ¢y bl
c=a.*b udsead Sl Gpall Jals o
@ ddgpadl (o paic JS i ok L
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Command Window

Mew to MATLAB? See resources for Getting Started.

a=[12 3r 2 3 4: 1 2 5]
inwv(a)

2.0000 0.5000
—=1.0000 —1.0000
Q 0.5000

Command Window

dayall ddghianll (usSaa Clua (Ko
c=inv(a)
e Adyaall ddghadl) G juaie gl aaan Ko
¢ peainll 4 xiy (53 dganlly Couall (g3 DA
dgenll SBI Chall A ABlgll jaiell voanld
oY) aadi Aalud) @ ddghadl 8 AN

a(2c3)

3 “e . - .
Mew to MATLAB? See rescurces for Getting Started. ‘ djy\) ”A” MM\ w\:\M ULHA USAf

> normia,l)

ans =

12

> normia,2)

ans =

g.451%8

»> normia,inf)

ans =

A Jlgall DA (e (Sl 0
norm(acl)
norm(a‘2)

norm(a‘inf)

Aoyl Adghaall Speall adll Clual
alall axdsiis
eig(a)
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e Al Al algandl e

Command Window

MNew to MATLABT See rescurces for Getting Started. d:‘]i n js *xb &)L 5&&,\ s .:9 QL‘. 5 “

== Xx=[ 1 2 3 4 5]

slo Ll 4@l (e Al Canys 30K
1SN Aada BHgua

Co O daoal) adll jres pas (S
bl Al 6N Lall DA (e Al 8aL5
W\ Alacty) e Z\.GL\L C-ALD-\M e
Ba S 1 sl o o) o

Cilgaiall Claladiny) e aell cllia
Ll 13 (PIa el lgde o g

dgadad) 3 gaad) i B8 Y
= Dl ag0n i€ gl e clighiad) ae deball Y @ile el (S

Loy (Kad Y @ile galiny & PO =8 =404 500l 5,5 Capas L)l ]
p=1[1 -4 4] JuIK 2l dpalaf ddshinss
e Olalaall canp Y Gle eln s
Al Clealyp = [p2 pl p0O] Jull J<al
Al aadnusd x=2 die s saaas dad (o

4l 8gall 3 LS polyval(p,2)

— tagas By Caupal AT Jbi

Command Window

‘ Mew to MATLABT See resources for Getting Started,

plx) =4x —3x7 4+ 2x 433

p=[400-3233]
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roots ¥ alasiuls dgaal)l ChES Hoda Cilua Say 1ABiadla

P(x) =x24+3x —4 250al) 5)3€ jeda caval 1 Jlie
= p=[1 3 -4]
roots(p) a._f)\;'a\.q GALI)J d\)\A Y

Slshall b LS laygia g 290al) 55 Ciped o 1 s
Jilall SN 3 didl)

doaa ) clanlail g el Y L€,

Glad) 138 8 ling Y e galing b deadieall dumayd) Cladailly salg¥) a2
Lo sl alg¥ly Clabetll U ol 8yaall pulatl) Zaa V) Cagyall 2lasind 55 )
pleall Gans 25 o e (A lsal) degane S e el el Caiat (Sasg eJlsall g
S gl e dahially Ayl

Aoisal) Jhgalt Ly, €0
@) b 8y enn Ally Y Sle melin DA (e 8pdle daliall L)l Jisal) de sana
Hlgaladinl (e Gaaally Jlgall b aal (s o G Joaadl i

Al | Dbl b Al dapa A ol

>>sqrt(16) sqrt auill sl

>>abs(-6) abs 4l 4l

>>exp(1) e bl (WY Al

>>10g910(20) Vo oD kel e sl Al

>>log(2) bl Sle ol ally

Libislaes Al Jlsall Cajes | >>sin(pi/4) Al cualdl dla
pi = megslall (bl Ll

cos(%) &l a3 | >>cos(pi/4) alall Cua alla
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sin™'(0) gl a3 | >>asin(0) cuall ugSaa dla

tan™'(1) b >>atan(1) Jall e e<aa Ala

>>sec(pi) alall Cua glae Al

>>sinsh(10) @3B Cuall Al

plae¥) sl aulal) Aad w55 | >>god(Xey) Omaal alaeY) i) Al
yeX il

Apdall Cimmall ded g5 | >>lom(Xey) JoaY) il Ceead)

YeX all jaal) Oyl

DT U iUy — :dloal) 22 any o dulee AL

New to MATLAB? See resources|

>> sgrt (16) :‘:J:q Laa dS J;j\

ans =

3 V16 1% 22l el 3l Gasal )
A sin G) unl) Aad angl LY
Veo Gaaaall alac) il aslall LY
0¥ cpaaell oYl il Ciacad) L€

0.7071
>> gcd (S, 7)
ans =

casi il slele o Jilial) JS3 8 LS Jsla)

x £

>> lcm(S5,2)

ans =

10

dgaand) AaBaiU ygatl) Jhga LY.L
all Jigad DA e (S 3 Aamayal) ey als¥) 0 el e Y e (g5ing
JBall Juw Aed JA) ) gaae alas (e dpdaal)
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srad2deg Jisall DA (e aSally il ) gplall Galdll e Llg il dugat (Sar @
.deg2rad

Command Window

Mew to MATLAB? See resources -‘ d\_m

»>> deg2rad(60)

ans = G600 Lels 0 gl Jsa )
1.0472 IS s ol

»>» radZdeg(pi/3) ‘;‘ g L@.u:l.:\é ‘é:‘j‘ 5\33\)3\ dj; Y

(Al ol il

610 . 0000

Qi JSal) 3 LS Jall

dec2bin g bin2dec Jlsall Pla (e (oKally A8 ) 4pdiall Slac) gl (S @

s JGs

Command Window

Mew to MATLABT See rescurces for § Shon -
>> binZdec ('11011101" ) ‘;‘ 11011101 ‘fu\ ?5)5\ dﬁ; -
ans = LISl Lyl Lol

221 dadll N 221 gyiall PR\ NBPENI
> dec2bin (221) lﬁuLd‘lﬁUﬂ\

= Qilaall J€al) 5 LS

"110113101"

P e Sally el ) pageaill digad (S @
str2num 5 num2str J)gall
Command Window L;\ 11011101 ‘éw\ ?3)“ dj; ]

Mew to MATLABT See resources for Gel
»>> sStrZnum(®11011101") ol

ans = fé) LsJ\ ”221" ua.\]\ d}; Y

11011101

il JSal) 3 LS Jall

x> num2stcr (221)

ans =
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Command Window SJM‘ q‘ﬂ‘J L‘&‘ ﬁﬂ‘ J\JJ .". i.\
el b Ll Capes 3 Aol alal) adlly Culgil e sane
Aaldll sl ol e SNy clglan) o) Lenadd dalsll (5
P PREGNA|

P sl e alipdl b Cipats T = 22 2l Al L)

7
(INF ) .1/0 DA (e galind) b iy = ailgD Y
(NaN) . 0/0 dusdl ye ded .Y
Sy 2752 dadl ve jaEy el L daliie a5 € dad .

eps LA

| | daSadtl) Jlgall L€, €,)
Oan Aol Clabailly Halg¥) Calaii ol el Y e galin (& dueSaal) Jlall pasid
p AU il e i) il
dakie 3381 3 Lgili ae Command Window  als¥) 53l clligine e 3> cls @
Workspace Jazll
Workspace Jaall dhaic 83l Sliging mae > clear
Workspace Jaall dilaic 338U (e bed Clpsiall mus D> clear a b o
Workspace Jaal) dahaic 33U Cliging (me 5> who e

z) AY s Jaay IR ER
Cne e el JANY) bl aadins Y Gile malin b ged) s delia e
DAl el aa) Jaly dalladd) il (el zhAYls Gaall Salsl Gl pasiidg malinll
HEIRPRE P PEEG N |

dinput Jlaay) jal e
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IR | . L., (i) (<) b Jea

MNew to MATLAB? See resources for Getting Started.

>> X=input ("x i..3 d=al Fls, ") L'éf)jn e X ):\a:mu 2\.4:15 dl.;dl em‘

¥60 Laud ol slsy

i) Ayl e gl des (imge
:disp zhAY) i e

X piiall daf (el

DS g asadl) Jaa 7€)
Jomanl 1gDIA (o iy s Y Sl pralind dumal) clabetl) b Audaal) Jaal) pasios
switch case ajsill dlea Gl if dudajdll dleall axdindg ¢ Japd Hlodl (e (pae @il e
& e Jalaill diyha g if statement dudajill dleall e oyl sy L algall alls e dudml

Y ale maliy
aaTl Jas o
frall () Ao i€yl dajd o el galid) i 8 oSSall dlaall sda aadins
sagdll) &l
if Zles —)
Aeall 88 amg hapd agay Ja A

Command Window

Mew to MATLABT See resources for Getf :E\:Jlﬂ\ 5).5""‘5\ uj“‘ Z\e.b)..ﬂ\

-\.}:} :-:'=4 . agw
if x>0 if condition
disp('x is positive')

Statement

end

8|9

X is positive
P Cage X M\&%Aﬂ@b}uﬁi
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Command Window

Mew to MATLAB? See rescurces for G4 if/else B ).uJ:' J ZdAA -y
= M=—-5
if ==0
disp('®x is positive')

13 ¢ piiadits (gaa) (3aail daviall oda adA%
e e ey salsh Al ciman i Akl Aleall dayd gaa
8yl daimll Cadaan Wy sydlae If dleal)l Cals

else wla

¥ is negative :d&m
>

\ij Ciage X puaniadl o Jed;ﬂc_nb}a_xBST

Command Window If/elself L)IJ\ ;\l‘\; =Y
Mew to MATLAB? See resources for Ge
>> x5 Do AS) 3iat AlSa] Ayl dleall odn i

if x>0

disp('x i=s positive') \ - “ U“‘t}‘m \& d@ uﬁ&;m\ du‘ “Lﬂ

elseif =<0

disp('x is negative') !%Qa»ﬂ\

el=se
disp('=x=0")

o Aaage Aiad)l Ladll cul€ 13 Lo oy sl

‘ﬁ~a @bhﬁﬂj\&JLu

X is negative
==

S Jax o
for loop statement agasall )<l dlas )
Command Window Jaal (e Ao gana 5\ s J\JS:‘S deal) el ("M

Mew to MATLABT See resources for Getting | e 61 *j (dgdaa js:- i ).\S\ ol !*“J
»» for vw= 1.0:-0.2:0.0

disp (v) sagall ) suall

end
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Command Window

Mew to MATLAB? See rescurces for Getting Started.

> =2

tdgles il
g Al Abdal dacV) e sl )
F(23¢—1c1) ala
s Jal)
ddull Al e Foooals adag
P ¢ sl ded jap b Eus F(bpMyicM,)

¢ Qomlall abiy il raal My ¢ AdSY Jolal ey
.uyw\ 41.13:1 U’“\ ).\S‘ 6M2

dall e alaeWh ddbidal)l alae) axe sl
:adul)

14+2(b—1DbP 1M, —M; +1)
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-1 48

Mew to MATLAB? See resources for Getting Started, a= 4 2 8 2"3}9"'4‘“” ‘ﬂf‘ﬂ_\‘
“> a=[-1 4 8 ; 428 ; 9 1 0] 9 1 O

fol e S Ok maling aladinly caeal
a ddsuadl 2aaa )
a Lsadl Lus<za—Y
>> det (a) EEPFIOAL ‘é_‘,l_é_',)_j\} ‘é_-,mb Jo¥) il —¥
a
a dghiaall Haall bl —¢
e = kil palic aag) diag Y aladiul —o

U .
-0.0435 0.0435 0.0870 >EPHE w)ﬂ

0.3813 -0.3913 0.2174
-0.0761 0.2011 -0.0%978

S
R
(==

> Anwv(a)

>>» normia,l)

1l&

=>> normi{a, 2)

ans =

1lz.58%96

=>> normi{a, inf)

ans =

14

=> eildg{a)

=> diagi{a)
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43U 3aa gl Y,
=
aa) gl ariall c)d ddaddl & cNaaal) Ja 3ok
Bisection Method —raiill 44 )k )
Method Fixed Point 4l ddadil) 45, )la ¥
Newton-Raphson Method ¢ sl (i s 44 )b ¥
Secant Method bl 48 4k ¢



ciualill 48y ha Y, ¥
syl o f(x)=e +3x =0 Al Ly @ )i aagl Capanll 45,k aladial
a €[-0.5,0]

IS ) S5 15 aladials Ly 6 1 )3a s cadlila) b ) 2 <0

f= inline('exp (t)+3*t'); 4d i3]l Ddoe sl o el O S8y

a=-0.5;b=0; s 5 &l dolgsy 4l a

n=10; ol I Sl suae

format long

c=f(a); d = £(b);s bl &l bl we Gl b8y dlaod olws

if ¢c*d > 0.0

sde e 8 e g ST gl crse e @il opall Juls gls 13

KR P ) Sk R G | LI el delub pliiug 3yl U5 S50
error ('An Error Occured The Function has same sign at both

endpoints."')

end

disp (' x v')

for 1 =

X v1)
.0 % solved the equation exactly

% jumps out of the for loop

24



A i) el ) amy oDke | el 5¥1 2 ey

= ¥
—0.250000000000000 0.0Z28800783071405

—-0.375000000000000 -0.437710721202028
—-0.312500000000000 -0.2Z05884371053358
—-0.281250000000000 -0.088210358010223
—-0.285825000000000 -0.030148403522180
—0.257812500000000 -0.000&827392705427
—0.25380&8250000000 0.01404577&856182&
—0.255852375000000 O0.00&8&8727151&81445
—-0.258835937500000 0.00288722923%98774

-0.257324218750000 0.001144857e82882

ans =

—-0.257324218750000 0.000244140&25000

el ) Sl day Ay 8l A Aad Al b nie ) yBY) dagd

A5l Al 48, e Y, Y

1 )
Al ddagal) alasily g(x):i(x +e7), X >0 8 Ly ji | jis aa ]

Finding the nontrivial root of

f(x) =0.5% (exp(-x)+x);

using the Simple Fixed-Point Iteration
clear all

o 0o oe

x = 0.0 %$initial guess 451 WY dadi ]l

Es = 0.1 Stolerance I SO0 lauwbe Gdgiy Gl da ]l
Ea = 1000; Srandomly large relative approximate error

xold = x;

n = 0; $iteration counter

while Ea > Es
x = 0.5% (exp(-x)+x); (X=g (X)) 84w P R
Ea = abs ((x-x0ld)/x)*100; Gldall Usxdl olws>
xold = x; NSy SN I
n=n+1; O ax=|
[n Ea x'] L5051 de Lub

25



end

x Sthe root

n $number of iterations
Ea %the error

Comdl ) oo A8y kY Y
AR dada (1)) Jls

AUE Mynewton aul: 43 335 5 M-file il (& mali sl al 5 AU )

function x = mynewton (f«fl.x0«n)

Solves f(x) = 0 by doing n steps of Newton’s method starting at xO.
Inputs: £ -- the function f = @(x)exp(x)+3*x

fl -- it’s derivative fl = @ (x) exp(x)+3

x0 -- starting guess: a number zero

n -- the number of steps to do 5

Output: x -- the approximate solution

= x0; % set x equal to the initial guess x0

o)

for 1 = 1:n % Do n times

[

x = x - f(x)/fl(x) % Newton’s formula. prints x too
% in the command window write mynewton (f.fl:x0:n)
end

end

o o°

o° oo

o° o

X

Adull el ¥ AUS 2 command window dsda

=» format long

= @ i(xlexpix) +3*x;
£f1 = [@ (=) exp(=x)+3:
=x=0O=0:
n=+4;
mynewton (£, £1 , =0, n)

=

-Z250000000000000

S25T7E21&T7278053 &

SLEZ25TEZTEeS53048074

SEZES5TEZTEeS530489737

25T7B2T7653049737
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adalil) 45, )b €Y

7 dada V¢ Jla

1SS mysecant aul 43 535 s M-file <ale 3 zali ) el 5l 44U o3

function x = mysecant (f«x0.x1:n)

% Solves f(x) = 0 by doing n steps of the secant method
% starting with x0 and x1.

% Inputs: f -- the function

% x0 -- starting guess: a number

% x1 -- second starting guess

% n —-- the number of steps to do

% Output: x -- the approximate solution

y0 = £(x0);

yl = £(x1);

for i = 1:n % Do n times

x = x1 (x1-x0) *y1/ (yl-y0) % secant formula.

y=f(x) % y value at the new approximate solution.
% Move numbers to get ready for the next step
x0=x1;

y0=y1l;

x1l=x;

v1l=y;

end

end

AUl el ¥ AUS 23 command window Asda

f=0@(x) exp(x)+3*x
x0=-0.5;

x1=0;

n=4;

mysecant (f¢x0¢x1:n)

;Zékﬂ\éﬂiﬂ\J@Lﬁ
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-0.26840£553759844Z¢

-0.024273404085180

-0.257807&8&£8278102

-&.781838578717008=2-004

-0.257827534527&87

4.4716282754401&2=-007

28



AANEY Baa gl W,
ddlaiall e 4bdl) calaall (re dalii) Ja 35 dlaall (3 k)
Gaussian Method (s sts 43y jla-)
Gauss Jordan Method ¢lass — Us sl 43y k-

Inverse Method (o=l jlaill 44 Hla-Y
LU Decomposition Method 4é séaall Julas-§



b oSall (a gaill g ugla A&y sk 1Y
B shoas Jisad iy Cun el Caall cililee ¢l als [A 1D ] suiedll 28 hendll o5
i le Ailie 8 himn 1) C5lbadl)

O ) £9 dadia JUa) uSall (g el g s sl 43 Hla Jiad QY e gali g (8 AU el Y
(sl

o\

Code from "Gauss elimination using MATLAB"
a is the matrix of coefficients with column b
we want to solve the the linear system page 149 from the book:
$EQl: X1-X2+2X3-X4=-8
$EQ2:2X1-2X2+3X3-3X4=-20
FEQ3:X1+X2+X3 ==2
$EQ4:X1-X2+4X3+3X4=4
$we input the augmented matrix [A:b] as follows:

o\

o

a=[1-12-1-8
2 -2 3 -3 =20
1110 -2
1 -1 4 3 47;
$Gauss elimination method [mn)=size(a):;
[mcn]=size (a);
for j=l:m-1
for z=2:m

if a(j«j)==0
t=a(je«:);a(je:)=al(zez);
a(ze:)=t;
end
end
for i=j+1l:m
a(ic)=a(ic)-a(e)*(a(icj)/a(iei));
end

end
x=zeros (l«m);
for s=m:-1:1
c=0;
for k=2:m
c=cta(s«k) *x (k) ;
end
x(s)=(a(s«n)-c)/a(s«s);
end
disp('Gauss elimination method:"'");
a

Xl

30



A el el ) ey

Gauss elimination method:

a -
1 -1 2 -1 -8
0 2 -1 1 &
0 0 -1 -1 -4
0 0 0 2 4
ans =
-7
3
2
2
=

s

X4=2 ¢ X3=2¢  X2=3X1=-7 Ol g

PO gl ik Y Y
o) bl 3 g Jy gt o an Lnpell Gl e 51yl Btial 2 ghomall (oS5

(\00 dadna ¢ H+t}ﬁ)2ﬁ)iﬁ;ﬁjiuan

oe

Code from "Gauss-Jordan elimination using MATLABR"
a is the matrix of coefficients with column b
we want to solve the the linear system
EQl: 2X1-X2+X3=2
EQ2:-X1+2X2-X3=1
EQ3:X1+X2+X3=5
%we input the augmented matrix [A:b] as follows:

o 0P o° o°

oe

a=102-112
-1 2 -11
111 5];

%$Gauss-Jordan method
[men]=size(a);
for j=1l:m-1

for z=2:m

if a(j«j)==0
t=a(lc:);a(lc:)=a(zc:);
a(z«:)=t;
end
end
for i=j+l:m
a(ics)=a(ic:)-a(j«:)*(a(icj)/a(i«i));



end
end

for j=m:-1:2
for i=j-1:-1:1
a(lies)=a(ic:)-a(j«:)*(a(icj)/a(i«j));
end
end

for s=1:m
a(sc:)=a(sc:)/al(s«s);
x(s)=a(s«n);

end

disp('Gauss-Jordan method:'");

a

Xl

il sy 385l 2

Gauss—-Jordan method:

a =
1 ] 1
u] 1 ] 2
a 1 2
ans =
1
2
2

X3=2 ¢ X2=2X1=1 gl gl

™ lalaal) 43 giaal g.,u.«bl\ selail A8y e vy
oDlel Jid) & giladl aUaall Jall sy

EQL:2x,—X,+X,;=2
EQ2:—x,+2x,-x,;=1
EQ3:X,+X,+X;=5

32



bl any UL 3 inv(A) e s oel V) LS b IS (Sl alasily

Jadl b el WS o @l ppidl oy X=Alh s Qe Jag A A8 siadll oyl
Olss pusla Ak alasiuly i)

*»» A=[2 -1 1;-1 2 -1;1 1 1]:
=» b=[2;1:;3]:
»» zal=invidA) *b

sol =
1.0000
2.0000
Z2.0000
fi >> |

LU 48gianll Jalas 48y yha €Y

Cilabaall 48 shean Jalad aladiuly Gilud) SUaall Jall slagy

EQL:2x,—X,+X,=2
EQ2:—x,+2x,-x,;=1
EQ3:X,+X,+X,;=5

A=[2-11;-12-1;111] Julls ookl 8 A SOlleall 48 siina JA0) &4

O lelaall 4 siiae Jalais o 6 [L U P]=lu(A) »¥)s b=[2;1;5] SIS b Jall 2 e Jial &

P ayyld ddg8imay U Lsle Al A8 g0ima [ Ao 4l ddg0ine Cldgaina A I A
Command Window

== h=[2:;1:5] :

A=[Z -1 1;-1 2 —-1:1 1 1]1:

[L U P]=1lu(ha):

D=FP*k:

¥=L%“D:

== H=UT

M =

|

Jx ==
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“ -
da) ) daa gl £,
4
ddlaial) g dphadl) el (pe dadi] Ja B3 jdluall & (3 k)
Jacobi Iterative Method (2 sSall 44 )la-)
Gauss Seidel Iterative Method Jubs (s sla 43y yla-Y

Successive Over Relaxation Method SOR 4 )k-Y



El:4x, +Xx,—4x,
E2:X,+2X,+X,
E3:

% Jacobi Method

clc

clear

format short

A=[4 1 -4;1 2 1;0 -1 4];

b=[-5;1;9];

l=tril (-A.-1);

u=triu(-A:l);

d=diag (dlag( ));

tj=inv (d) * (l+u);

cj=inv (d) *

xj=[1;1; 1]

N=5;

for i=1:N
xj=tj*xj+cj;
(1 %x3']

end

Sl Ayl Y ¢

: osStal) &8y ylay ) aal) Al Ja s 5

—X, +4X,

=-5

=1
=9

X =[1 1 1] : Sy asial sl

L b b i

edlel el g¥) 2d aie Al il jelat
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ans =

1.0000 -0. 5000 -0.5000 2.5000
ans =

Z.0000a 1.3750 —0. 5000 2.1Z50
ans =

3.000a 1.0000 -1.z2500 2.1z50
ans =

4.0000 1.1875 -1.0&825 1.9375
ans =

5.0000a 0.2531 -1.0&825 1.55844

X3¢ X2eX1 <l yuiall s qol g Callill 5 D 5 gndl 5 ) S0 A8 2 J5Y) 2 gandl G
OSSPyl e

Al Julew gl A8y 5k Y €
Collall 8 AU el sY) i o oMe ] JUiall Jal

% Gauss Seidel Method
clc
clear
format short
A=[4 1 -4;1 2 1;0 -1 4]1;
b=[-5;1;9];
l=tril(-A.-1);
u=triu(-A:l);
d=diag(diag (A));
tg=inv ( ) *u;
cg=inv ( ) *b;
xg=[1;1;1];
N=5;
for i=1:N
xg=tg*xg+cg;
[1 xg']
end

d-1
d-1
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ans =

1.0000

ans =

.0ooo

o8]

ans =

3.0000

ans =

4.0000

ans =

5.0000

. 5000

.0ooo

.0ooa

. 0ooa

.0ooa

0.2500

-1.15&3

-0.5805

-1.0024

-0.998%

o]

o]

o]

L3125

-8&808

.004s

.9984

.0oo1

sl c_sl_”ul\ yeJai

X3¢ X2eX1 <l yiall o aol g Callill 5 D 5 gandl 5 ) S0 A8 52 JsY1 2 sanll Cua

DISEAS Gyl e
SOR 44 )k Y. ¢

W=1.2 & i) culd alasiuly ) 8 AN el 5Y) 2 oDle | Jld) Jal

% SOR Method using Accelerating constant =1.2

clc
clear
format short

A=[4 1 -4;1 2 1;0 -1 4]1;

37



xs=[1;1;1];

N=5;

for i=1:N
xs=ts*xstcs;
[1 xs']

End

Command Window

AUl i) yedas

ans

ans

ans

ans

ans

X3¢ X2«X1 Chtﬁild\aé cﬁ)ﬂj dﬂtﬂ[,qgtm

[ ]

.gooo

.gooo

.gooo

.gooo

.0ooo

.5500

. 5854

.8787

. 7405

38

L0300

.5345

L3785

. 8430

]

.0580

L3779

.Be0e

.538%

. 7491

3ganll 5 IS Q85 g ISV 2 geall G
S8 S b il e



doucal ALY daa gl) o,

g ARy sk aladinly Apbadl) 8 AW Ja



DY Gl A gy e (560 A4 Hh aladinly A hd el aUadl) Jad

fo(X,X,)=X,+2x,-3=0

fo(x,%,)=2x+x2-5=0
[1.5,0.5] : 4dlai¥) sl aladinly

Al 3 <0 R,

% mymultnewton

format long;

n=4; % set some number of iterations: may need adjusting
f = 0(x)[x(1)+2*x(2)-3 ; 2*x(1)"2+x(2)"2-5]; % the vector function
% the matrix of partial derivatives

Df = @(x)[1:2 ;4*x(1)2*x(2)1]1;

x = [1.5;1.0;] % starting guess

for i = 1:n

Dx = -Df(x)\f(x); % solve for increment

x = x + Dx; % add on to get new guess

[1 x']

end
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1.500000000000000
1.000000000000000

ans =

1.000000000000000

ans =

Z.0000000000000a00

ans =

3.000000000000000

ans =

4.000000000000000

1.500000000000000

1.488055238085238

1.488033873343152

1.488033871712585

0.750000000000000

0.755852380852381

0.755883083328424

0.7558830&84143703

sl ) S5 Ry Y lall el

JS (8 Ko dad Gl 3 ganlly Xg A AN 2 ganll g ) S3N o8 ) ey J5Y) 2 gl

41
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G AL Y0

leatally 891 a5 (S Gam il e Fonnt ) lalaal) (e o il
QUQ,J\@SAdﬂiﬁdﬁ@.ﬂ&)}é)@id\}qjJ}M\qud\}aé\@)ﬂd&@;u)ﬁ}
Jah Lol lankhs Ll J)s\} dalaall 03y Y Gl GALUJ eﬁﬁ\ By dgandl 3,08 Y aleay

4\ Curve Fitting Tool

- -adal

4\ MATLAB R2017a

HOME

G Ea

F

EJ}AMLEGA}A}QLASGAL}‘)JM

8 8 ®& O

Current Folder | Curve Fitting Toolbox 3.5.5

GetMore Install Package Curve Fitting O ptimization PID Tuner System Signal Analyzer Image
Apps App App ldentification Acquisi
FILE AFPS
Curve Fitting
<@ = 19 & | Fit curves and surfaces to data (cftool) [ts * MATLAB » Examples b matlabex

(G Command Window

- O >
File Fit View Tools Desktop Window Help v|ax
o R0 @R | E | BOED
| untitled fit 1 .| + |
Interpolant 8% Auto fit
Fit name: |untitled fit 1
Method: | Linear ¥ Fit
A data: (none) v
¥ data: {nane) » Center and scale Stop
Z data: (none) ~
Weights: | (none) ~
Results
Select data to fit curves or surfaces.
Table of Fits ®
Fit name Data Fit type SSE R-square DFE Adj R-sq RMSE # Coeff Validation .. Validation... Validation ..
[ untitled f| |Iiﬂearinterp | | | ‘ | ‘ | | ‘
[ untitled fl linearinterp | | | ‘ | ‘ | | ‘

- lgia pualic sae o LILEN o3 (5 gind

Leie g 5 )yl Ll Clgaia Uil iy 31 5 Ly 55 00 pall i) ayaa dadaia 2V

43



Fit name: |untitled fit 1

X data: (none) -
Y data: (none) -
Z data: (none) -
Weights: |(none) -

a_\:t)s.d\ C\_al_aLg;.n_u.u i ‘;J\AA.M 3 \-l:alﬂ

Results

o34 il sine Calia § bl e afudai o yall coy 8l sl sl oyl dikaiall (GG

Interpolant ~
Method: | Linear v

Center and scale

A Alalaa g UL by s Led sedans (Al g an )l didaia el

Select data to fit curves or surfaces.

il Aliaal) Cy ) L el ) diduial) JLuala
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Table of Fits ®

Fit name «  Data Fit type SSE R-square DFE Adj R-sq RMSE 2 Coeff Validation ... Validation ... Validation ...
[ untitled ... | [linearinters | | | | | | | |
[ untitled f... ‘ |Iiﬂearintarp | | | ‘ | | | | |

adl gal) asiicaal) | ¥,%
YA« daia ¥ e
Y il el pladiuly o) gall aiiosall slay)
SIS bl Aol a8 el V)l &Y
x=[68 10 12 14 16 18];
y=[3.83.74.03.94.34.24.2];

X_L:u,m}hjvd\ clild) d\;dbe)s:}&_!\ﬁ Q&@h}‘zgu_\g)sﬂ\ C..a\.u.uj,.\xﬁﬂ_\:x.au
AN B ) geall il el

4\ Curve Fitting Tool - [m| X
File Fit View Tools Desktop Window Help A
b [l | G 3 A ||l B HOEO
[ untitled fit1 = | + |
Polynomial i Auto fit
Fit name: |untitled fit 1
Degree: |1 w Fit
X data: x ~ < !
Robust: | Off ~
Ydata: |y ~ Stop
7 data: (none) » [] Center and scale
Fit Options...
Weights: | (none) ~
Results
~
Linear model Poly1: Y s x
flx) = p1*x + p2 : untitled fit 1

Coefficients (with 95% cenfidence bound:
pl=0.04464 (0.01291, 0.07638)
p2= 3.479 (3.077, 3.88)

Goodness of fit:
SSE: 0.08536
R-square: 0.7234
Adjusted R-square: 0.6681

RMSE: 0.1307
A4
6 8 10 12 14 16 18
< >
X
Table of Fits ®
Fitname -  Data Fit type S5E R-square DFE Adj R-sq RMSE # Coeff Validation ... Validation... Validation ...
[ untitled f... [y vs. x |pely1 |0.0854 0.7234 5 0.6681 0.1307 2
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Al el 35Sl (W) A el (e 2 san B S Cuy g ey R ol JSa) 8 a3l

function [fitresult: gof] = createFit (x:
[xData« yData] = prepareCurveData( x:« vy

ft = fittype( 'polyl' );

[fitresult: gof] = fit( xData« yData. ft

figure( 'Name': 'untitled fit 1' );

h = plot( fitresult: xData: yData );

legend( he 'y vs. x'¢ 'untitled fit 1'

xlabel x

ylabel vy

grid on

-1 sall e

y)
) ;

) ;

'Location'« 'NorthEast' );

gaa B8 cu i Y Y

Cung gaall 5 8K Aa 50 B i AN 5] 460N Aa ol e 2508 8 S Gy 8 il Ll

L1 IS YAY dnden £ Ul Ja) raas

4\ Curve Fitting Tool - O *
File Fit View Tools Desktop Window Help N A X
SRR OE - FEE Y HDBO
| untitled fit 1 |T|
Polynomial ~ Auto fit
Fit name: | untitled fit 1
Degree: |2 i
X data: x ~ s o
Robust: | Off ~
Y data: ¥ ~ Stop
. (none) o [] Center and scale
Fit Options...
Weights: | (none) w
Results . . . . ; . .
~ 431 + q
Linear model Poly2: * yvs.x
fx) = p1*x "2 + p2*x + p3 42 untitied fit 1|
Coefficients (with 95% cenfidence bound:
pl= -0.001488 (-0.01236, 0.00938) 41 1
p2= 0.08036 (-0.1832, 0.3439)
p3=  3.288 (1.818 4.739) > 4r . 4
Goodness of fit: 39r * 7
SSE: 0.08238
R-square: 0.733 38 * q
Adjusted R-square: 0.5995
RMSE: 0.1435 3T BT T L L L L |
v 6 8 10 12 14 16 18
< >
X
Table of Fits O]
Fit name Data Fit type S5E R-square DFE AdjR-sq RMSE # Coeff Validation ... Validation ... Validation ...
I3 untitled f.. |y vs. x ‘polya |D.DSE4 0.7330 4 0.5995 0.1435 3
BJJP‘A‘u;Q ugaagufgajﬁ\J}SM}
function [fitresult: gof] = createFit(x: y)
[xData« yData] = prepareCurveData( x« vy );
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ft = fittype( 'poly2' );
[fitresult: gof] = fit( xData« yData. ft );
figure( 'Name': 'untitled fit 1' );
h = plot( fitresult: xData: yData );
legend( he 'y vs. x'¢ 'untitled fit 1'¢ 'Location'« 'NorthEast' );
xlabel x
ylabel vy
grid on

=) Gl €

-1 AU JU 138 Ja Llee oty G o) oy 81 aladiad o YAT dadia Guelall Jad) b
bl Jaaly &
x=[01234];
y=[1.52.53.55.07.5];
) il g s R o e oy ) Gl s A ULl SRS Gy 8 i 0 (0 o

- > A . L
4\ Curve Fitting Tool — [m| X
File Fit View Tools Desktop Window Help VA X
e [l 5 S, @ 5 B BDeO
| untitled fit 1 |+ |
Exponential Pv Auto fit
Fit name: |untitled fit 1
MNumber of terms: | 1 ~ Fit
X data: X ~
Equation: a*exp(b*x)
Y data: y ~ Stop
[] Center and scale
Z data: (none) ~
Fit Options...
Weights: | (none) ~
Results
T T T T T T T T
A
General model Expl: 7} " yvs. X
flx) = a”exp(b™] untitled fit 1
Coefficients (with 95% confidence bound: 6
a= 1611 (1.415 1.807)
b= 03836 (0.3478, 0.4194) 5F
=
Goodness of fit: 4r
SSE: 0.04087
R-square: 0.9981 3r
Adjusted R-square: 0.9973
RMSE: 0.1167 2r
. .
o 05 1 15 2 25 3 35 4
< >
X
Table of Fits @
Fit name Data Fit type S5E R-square DFE AdjR-sq RMSE # Coeff Validation ... Validation ... Validation ...
[& untitled ... [y vs. x |exp1 |D‘D409 0.9981 3 0.9975 0.1167 2
SR et e - 0 an .
function [fitresult: gof] = createFit (x: y)
[xData« yData] = prepareCurveData( x« vy );

% Set up fittype and options.
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ft = fittype( 'expl' );

opts = fitoptions( 'Method': 'NonlinearLeastSquares' );
opts.Display = 'Off';

opts.StartPoint = [1.63987437617133 0.37688590118819];

% Fit model to data.
[fitresult:« gof] = fit( xData. yData. ft« opts );

% Plot fit with data.

figure( 'Name': 'untitled fit 1' );

h = plot( fitresult: xData. yData );

legend( he 'y vs. x'¢ 'untitled fit 1'¢ 'Location': 'NorthEast' );
% Label axes
xlabel x
ylabel vy
grid on

AU da ) (e ona) O Y G BT 00
S I 8 LS ol By e 3y 5 Al A Ll (e ol O SBY 8 Ay

4\ Curve Fitting Tool - O X
File Fit View Tools Desktop Window Help L] | "X
- & [l S O E | [EE % HOBEO
| untitled fit 1 |+
Exponential ~ Auto fit
Fit name: |untitled fit 1
Mumber of terms: |2 R Fit
X data: X ~
Equation: a"exp(b™) + cexp(d™x)
¥ data: ¥ w Stop
[] Center and scale
Z data: (none) o y -
Fit Options...
Weights: | (none) w
Results
T T T T T T T T T
~
General model Exp2: 7} . yvs.x J
f(x) = a*exp(b*x) + c*exp(d*x) untitled fit 1
Coefficients (with 95% cenfidence bound: 6 I 4
a=  1.655 (0.002505, 3.307)
b= 0376 (0.09335, 0.6587) 5F R
o= -0.1548 (-2.717, 2.407) =
d= -1834 (-1.561e+09, 1.561e+09) 41 1
Goodness of fit: 3r 7
SSE: 0.02374
R-square: 0.9989 2r T
Adjusted R-square: 0.9957 1 L L L L L L L L
 fusED1 = v 0 05 1 15 2 25 3 36 4
X
Table of Fits @
Fit name «  Data Fit type SSE R-square DFE AdjR-sq RMSE Z Coeff Validation ... Validation ... Validation ...
[ untitled f...|y vs.x exp2 |0.0237 0.9989 1 0.9957 0.1541 4
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Ay g )Y

3 4 5 6
3 5 7 9

Ay s i pall 20558 e N aae Y il a Y A0 gaa alagy blall & U el
Clon oy a8 (e g ) (i Legd DAl dnia (3 Y ariall o g 4nie (8 X sl ad JA0)
S X J A A dicY J 4 jpatil) dagdll

X=[3 4 5 6];
Y=[3 5 7 9];
N=length (X)-1;
Xp=4.3; Sapproximate Y when X=4.3
sm=0;
for i=1:N+1
pr=1;
for j=1:N+1
if j~=1
pr=pr* (Xp-X(3)) /(X(1)-X(3));
end
end
sm=sm+Y (i) *pr;
end
Yp=sm
5.6 dx il ey Jailall!l Ge

Aa gudial) (398N aladiindy 450 gand) alagl LY,V
O N e (Y A suiiall (555l alasiuly 4 slaall 4 ganldl slagy Ol 6l gyl
o Legd AT dnia (3 Y Lariall adl g daie (b X sriall ad JA) aty Cus i all 215 5Y)
VY JEe) - Ul QU S X J dme dad 2ie Y J 4 pafil) dagdl) Qs o &5 (e g 22l
(Y10 dada

-1 0 2 3

Y 4 1 0 2

function F = divided diff (x.y.x0)

$getting the number of points from the x-vector
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n = size(x«1l);
if n == 1

n = size(x«2);
end

$the 1st column in the divided differences table
for 1 = 1:n

F(icl) = y(i);
end

$the rest of the entries in the table

for 1 = 2:n
for 3 = 2:1
F(i¢3)=(F(1c3-1)-F(i-13¢-1))/(x (1) -x (1-3+1));
end
end

$evaluating the polynomial at the specified point
fx0 = F(n«n);
for i = n-1:-1:1
fx0 = £x0* (x0-x(1)) + F(i.1i);
end

$command window outputs

disp ('Point x0 where approximation of f(x0) is needed')

x0

disp('Evaluation of the polynomial at the specified point yields')
£x0

disp('Divided-differences table')

Jal 25y el 5V il

x=[-1 0 2 3];

y=[4 10 2];

x0=1;
divided diff (x.y.x0)
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D
v=[4
=x0=1

=[-10 2 3]:

10 2]:

r

divided diff(x,v,x0)
Foint =0 where approximation of f£ix0) is nesded

=0 =

1

Evaluation of the polynomial at the specified point vields

=0

-0.3333

Divided-differences table

ans

4.0000 a a
1.0000 -3.0000 a

0 -0.5000 0.8333
Z.0000 Z.0000 0.3333

o oo o

2R 9! Aadiial) (39 810 aladialy 430 gaad) sla) Y,V

N 22e Y g dasiall (55l aladinly 4y glaall 450 saal) sy oLl & Gl geals )
i Legd JaTdntie A aiall adi g anie 8 X uiall i JA) 2l s @l pall 2559 (e
X)) ¢ MU JUal) (S LS X J Aee dad e Y J 4 sl el s &y a3 (e g 22l

(Yvyv iaaalo
1.00 1.01 1.02 1.03 1.04 1.05
1.0000 | .99433 | .98840 | .98355 | .97844 | .96530

clc;

clear all;

X =

input ('Enter x:

5yl Ayl & a5 Adadill () Cus P (1.018) sl
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y = input ('Enter y: ');

req = input ('Enter required x: ');

rows = length(y);

cols = rows+l;
h = x(2) - x(1);
table = zeros (rows. cols);

% add data to the table

for 1 = 1l:rows
table(i« 1) = x(1i);
table(i¢ 2) = y(1);
end

% find the deltas

n=1;
for j = 3:cols
for 1 = 1l:rows-n
table(i« j) = table(i+l: j-1) - table(i. j-1);
end
n=n +1;
end
% find the yo0
p = 0;
for 1 = 1l:rows
temp = (reg-x(i))/h;
if(( temp > 0 && temp < 1))
p = temp;
pi = i;
end
end

$final answer
answer = table(pi« 2);
r = 1;
for i = 2:rows
r=r1r * (p-i+t2);
answer = answer + (r * (table(pi. i+1l)/factorial(i-1)));
end

disp (table);

fprintf ('Final answer is: %f\n'. answer);

: IS An il s
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Enter x: [1.00 1.01 1.0Z 1.03 1.04 1.05]:
Enter v: [1.0000 .899433 .98840 .98355 .97844 .9g530]:
Enter redquired =x: 1.018

1.0000 1.0000 —-0.0057 —-0.0003 0.0013 —-0.0027 -0.0037
1.0100 0.9943 -0.005% 0.0011 -0.0013 -0.00&84 a
1.0200 0.5884 -0.0048 -0.0003 -0.00a7s8 a a
1.0300 0.933¢& -0.0051 -0.0080 ] ] ]
1.0400 0.9784 -0.0131 a a a a
1.0500 0.9&53 a a a a a

Final answer is: 0.288570

1 (A gl dgra 1) (59 Al aladieddy A gand) sl £V
Y sl Ama M) (35l alatily 4 gladll A saall alagy bl 3 ) syl
Aldaie JY puidl afgdanie 4 X el a8 Jad) 4l Cus el 7215531 e N 22
Pl Jhall S LS X J A da e J 4 el dagdll lisa oy o (e g el i Lagd
(YVY daiia) o ()

1.00 1.01 1.02 1.03 1.04 1.05

1.0000 | .99433 | .98840 | .98355 | .97844 | .96530

3yl djlgd b adi ddaiill () 2 s P, (1.043) Gl

clc;
clear all;

x = input ('Enter x: ');
\% input ('Enter y: ');

req = input('Enter required x: ');

rows = length(y);

cols = rows+l;
h = x(2) - x(1);
table = zeros(rows: cols);

% add data to the table
for i = l:rows
table (i« 1) = x(1i):;
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% find the deltas

n=1;
for j = 3:cols
for i = l:rows-n
table(i¢ j) = table(i+l¢ j-1) - table(i« j-1);
end
n=n +1;
end
% find the yo0
p = 0;
for i = l:rows
temp = (reg-x(i)) /h;
if(( temp > 0 && temp < 1))
p = (reg-x(i+l))/h;
pi = i+1;
end
end

$final answer
answer = table(pi« 2);

r = 1;
n=1;
for 1 = 2:rows
r=1r * (pti-2);
if(pi-n < 1)
break;
end
answer = answer + (r * (table(pi-n. i+1l)/factorial(i-1)));
n=n-+1;
end

disp (table);

fprintf ('Final answer is: %$f\n'. answer);
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:aémﬂ\l;ﬁﬂ\v&i§~)JJY\3Ji§‘é§

Enter x: [1.00 1.01 1.02 1.03 1.04 1.05]:
Enter ¥: [1.0000 .99433 .95840 .98355 .97844 .9g530]:
Enter required =x: 1.043;

1.0000 1.0000 —-0.0as57 —0.0003 0.0013 -0.0027 -0.0037
1.0100 0.9943 -0.00a5= 0.0011 -0.0013 -0.00&84 a
1.0200 0.5884 -0.0048 -0.0003 -0.0a7s a a
1.0300 0.9838e -0.0a51 —0.aasa0 a a a
1.0400 0.2734 -0.0131 a a a a
1.0500 0.2&53 a a a a a

Final answer is: 0.97592Z8
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Jie Ol 3 cibuad doaxe 3k ) el A O pany e Jead) (e
OQ c:iu‘ L,S‘JJ’J‘ d;j\ Ui LQ.J} .u9m34”2\3_1‘)2‘5dJ='”S\MZ\A.{)LJ D‘).ﬁn . we J\A.j‘)k
-Lﬁ-“\rﬁe&d\omﬂ-laii&f—dal\\&g;@ﬂﬁéﬁi\dﬂ@ﬂwﬁ@ﬁgie\:w |

Midpoint Rule :5_3ll ciaiia 3as3 1\ A
Clipad) ) saa g O YN 138 (o dalisall Clua Gslladll s f(X)=sinX OBV sl Gl (i dil
Aalisal) ai AT ey ol 3ol 32 N6 58l andi s A 1 5 0 O 5 seanall 5 yidll
() JSA) B mage 4 WS nladae el ) gludtie 40 see ) pdiBae ) Al sl

a:ch=nch:% ¢ mg=a+sh m;=a+h .. my=
n+1
a+2h
mO ml m?2 m3 m4 ... mn-
1
A A A A A A
v v v v v v
Xo=a X1 X2 X3 Xa X5 - Xp=
“«—nph—>

(V) pdsJsdd
(Y) by JSall Adaiaga A LS 098 M ad Gl n il &l e ols 13

b-—
hzTa my = a+ h m;=a+3 .. my=a+=th
A
Mo M ne
v
() s Jsad
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Lo il pisae J dende f(X)=SINX Ol inte it daludl)

QM\@Q&J@\AQ\A&\MGUM‘J}M}U\‘)E\X‘U&JDJM\@N\QAM\.JIA.JYJ
) e dabal) il (@3daiiall) A8 a8l aae 3 WS il Wle siniall Cint A g all

.Z\EJ )ﬁi }i :\A:\A;J\
A = hf(mo) + hf(my) + hf(my) + hf(mz) + ......... + hf(mp.1)
or .
A= hZ?z_Olf(mi)
(V)dba
) fo" sinx dx  JaSil Aad Ay § Lijadlly 5l Chuaile 5acld aadin)
:Jadl
b—a -0 .
h=—="=c « x=atjh
T 2T 31 41 51t
x0=0c xl:g cxzzz cxgzz ¢ x4=?‘x5=? ¢ Xg
_ 61
6
T _ 3T B 5w B 7T B o
Mo =75 M=y ‘M =1y ‘M= ¢ Ma=75 s
_ 11w
12
N Mn f(mn) hf(mn)
0 m\12 0.2588 0.1355
1 3n\12 0.7071 0.3702
2 5m\12 0.9659 0.5057
3 7m\12 0.9659 0.5057
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4 Om\12 0.7071 0.3702

) 117\12 0.2588 0.1355
Total = 2.0228

R=2.0228  the approximated value.

1 LaS Jalsil) dad s & (Matlab) gl asdiad

a=0; b=pi ;n=6; h=(b—a)/n;
m = pi/12 :pi/6: 11 *xpi/12 ;

y = sin(m);

R = h * sum(y)

The resultis R =2.0230

(¥) Jua

3 - - <2 Tea w . e . e o - o
. fO e’ dx Jasil) da day § . Adjailly 3l Chaliia 30010 addiu
:Jad)

h=22=320_05
6 6
Xo=0¢ x; =05 ¢x, =1¢x3=15¢ x, =2¢ x5 =25¢x5= 3

my=025¢ m; =075 ¢m, =125 ¢my =175 ¢« my, =2.25mqg
= 2.75

N Mn f(mn) hf(mn)
0 0.25 1.2840 0.6420
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1 0.75 2.1170 1.0585
2 1.25 3.4903 1.7452
3 1.75 5.7546 2.8773
4 2.25 9.4877 4.7439
) 2.75 15.6426 7.8213

Total = 18.8882

R=18.8882 the approximated value.

sl LaS Jalsil) dad s & (Matlab) el asdiad

a=0; b=3n=6; h=(Mb-—-a)/n;
m=0.25:0.5:2.75;

y = exp(m);
R = h * sum(y)

The result is;: R =18.8882

Trapezoidal Rule i jaiall 4ad 43y 2, ¥,A

Ay ail Aag i JS oSS ladie | | =b%a Cus N s sl Baal gl dsgy 3l (m e 5 s sl

Coonlall 4t dalies Ay =2 (g +31) o IV a4l dals 855 Ciale
(B) i frase LS IXas 4 = %()’1 +y2) S
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/// 4

/ /
Yn-1 Yn
W v V3
Xo=0 X1 X2 X3 Xn1 Xn=Db
- — <> -+
h h h h

(3) U8

it L saad) 3 6 pama (pe Al aidl) cind A i) dabd) Cla WSy Y15

; h h h
ff(x)dx = Z(yo + 3’1) +§(y1 + yz) + ..+ f(y"—l

+v,)
QJS:MMJ\&A\ algjlamuﬂw _“\;\ﬁ;\ dic g

b
b—a
[ reoax= 222 (3, + 2y, +4 2y,

+5,)
(V) due
, f:exdx Jalsil) Ao ey S, Lijailly cijaiall 4 Bacld ardiul
:Jadl
y=e* « a=0 ¢« b
=3 ‘ n==~6
b—a 3-0
h=—=—=0.5
n 6
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1055 Ay phall o3 G silE e sl 0.5 (s Ay i) ia e O

Yo=f(x0) « i =f(x1) ¢« y2=f(xz) ¢« oo ¢ Y= fxn)

Cua Ol JalSall Gl Uile Jgun 48 4 gl clilad) Jaas s Jgasdl alasiud aie
) dlee b deaiinall 5 A Aalaall 8y usial) Jelee m Al Jias

N Xn yn(=€%) C CYn

0 0 1 1 1

1 0.5 1.64872 2 3.29744

2 1 2.71828 2 5.43656

3 1.5 4.48169 2 8.96338

4 2 7.38906 2 14.77811

5 2.5 | 12.18249 2 24.36499

6 3 20.08554 1 20.08554
Total 76.92602

s sbedi ALl Jalsall dad () S ale
b
h
[ reodx= 5 (yy + 2y, +-+ 2y, +,)

=22(76.926) = 19.2315

The approximated valueis R=19.2315 .
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o LaS Jalsill dad il B (Matlab) gabisg aadicd

0
3;
6

(b-a) / n;

x=0:05:3

y = exp(x) ;
R=(h/2)*(y(1)+2*y(2)+2*y(3)+2*y(4)+2*y(5)+2*y(6)+y(7))

a
b
n
h

The result is: R =19.4815

(7) Jta
. f07 xcosx dx JaSildad aay §, Aijailly Ch adall dud sas B aadia
:Jad)

2=03927. x;=a+jh

n 4 8 J

N Xn Yn = XCOSX c Cyn

0 0 0 1 0

1 /8 0.3628 2 0.7256

2 /4 0.5554 2 1.1108

3 3n/8 0.4508 2 0.9016

4 /2 0 1 0
Total 2.7380
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f07 xcosxdx=g (yo + 2y; +-+ 2y,_1 +¥Yn)

N 198

(2.7380) = 0.5369
The approximated valueis R =0.5369 .

o LaS Jalsill dad il 3 (Matlab) gabisg aadiad

a=0;

b=pi/2;

n=4;

h=(b-a)/n ;

X=0:pi/8:pil2 ;

y = X.*CoS X ;

R=(h/2) > (y(1) + 2*y(2) + 2*y(3) 2*y(4) + y(5))

The resultis R =0.5376

Simpson Rule  gsewaw 44k ¥ A
- - b— - . “ . .
(e OsSTAag 33 K5 h =2—Y: G (s sba a1l Amg Hll (2 pe 5 2 (s sban L
O S Capaiall il 4l 5S35 i 1) il (e A 55 IS5 O sl O e (i 54
Dl andl Jo Ll o jaia 4l (ol JSEI Y A 58 W day i1l Legialow cibaa (Kadll
ey Lgind daliaall alag) ol pal) Al Jisie e s a sa s caie ad eVl san oY @iy
ot Jaliill o3 ¢ Ala) day il pana Jalis U Al s

(a‘f(a))‘ (a+h<f(a+h)) ¢« (a+2h <f(a+2h))

1 Sl IS 8 e a LS a0 gan) e B el Jiad Can
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arabolic
4 pproximation

0 a a+h b=a+2h X

(2) g2
(el i A gaall A0 )

it L gand) 53 ¢ pama (po Al iaidl) Cind A ) dabied) Claa WSy oW

3 [f(x0) + 4fCe) +2f(x2) +4f (x3) + - + 2f (xom-2)

+ 4f(X2m-1) + f(x2m) ]

b
ff(x)dx = h

h="2 . x=a+jh.j=012...2m
(V) Jha
i f03 e dx  Jalsil) Lah slasy S Lijailly ) geuans B a3

:Jadl
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a=0 « b=3 . h=05

v v v v v v
Xo=o X1=0.5 Xo=1 X3=1.5 X4=2 X5=2.5
X6:3

() des

[0+ 4e%° + 2e'+4e' + 2e%+ 4e?°+ €3]

N =

3
fex dx =
0

The approximated value is R=19.092

= 19.092

.(19.0855) (o 5 dadall dadll o il o (19.092) (8 5 O smsans Ay ylay &y gussall Angiil) ()
(e Mool il Ak (05 i paiall 4 Al (e 882 ST Ll sl e Gl
A (58 5 Uadl) Aad la

e = |19.0855 — 19.092| = 0.0065
Lasll (8 il 3l aae ) LalS il alall ae

o LaS Jalsill dad il B (Matlab) gabisg padicd

y = exp(x) ;
R=(h/3)*(y(1)+4*y(2)+2*y(3)+4*y(4)+2*y(5)+4*y(6)+Yy(7))

The resultis: R =19.0920
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(¥) Jha
didal el [Z x cosx dx  JalSi Aad Ay §, Aijadlly ¢ guan ol padi
A e b g Y 4 ke
:Jad)
0 b= 4
a= ¢ =— ¢« n=
2

T

b—a 5—0
n 4

8
v v v v

h =
v
X1=0 Xo=m/8 x3=m4 x4~=3n/8 x5=m/2

(%) s

JE xcosxdx =2 [f(xy) + 4F(ry) + 2f () +4f (k) + +2f(Xpg) +
4f (pp) + f(x0) ]

= i (0+1.4512+1.1107 + 1.8034 + 0) =
0.5714

The approximated valueis R=0.5714 .

&5 S 488 Aaill las Ay 8 (0.5714) s 48 yhall o3gy Ay suenall Al () Jaadl Lia g
AaLd 5okl e Jaaidl 2\3.1#\ Y u\ AS}.\ a.JA} . (05708) ngl.uﬁj Jalsal) ;\ﬁ\ (e PR|IVES

o LaS Jalsil dad il B (Matlab) geabise aadiad
a=0;
b=pi/2;
n=4;
h=(b-a)/n ;
x=0:pi/8:pi2 ;
Yy = X.*COS X ;
R =(h/3) * (y(1) + 4*y(2) + 2*y(3) + 4*y(4) + y(5) )

The resultis R=0.5714
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ccalaliniuy €A

GAD Aaadla U ey s Jgan JS4 o LS 3 hal) 0dg 4y paall gilial) 45 jl6a JaY
Aial) adbl) aa Ay 801 adll) G Eua pe L

g )
o Y
laiia O piann Al LEaal O aey)
8 adl) < jadiall o
) 3 e dx
18.8882 | 19.092 19.4815 19.0855 | 7o
0.5874 | 0.5714 0.5376 0.6708 f x cosx dx
0

33 Alall gl pdl) aae 3L O LaS Jad) A O geuran A8y yh o) odle Jgaad) (e BadlS
siniall i clabuall glua b A8 3355 I g5
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